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COSCEg+=2E -0.51 6.1 3.52 6.32
(I X CHel &) (=0.91) (5.09) (=0.04) (1.07)
bl W X 4= (X 0k3) 0.40 1.02 3.56 5.25

=) HIW X 4=(HXI0t32) : KOSPI X 9% + HZBP ZSEMHAXI 2= 20 1-2Y X 81% + [KIS SEIIXI==(1-2Y) X 55% + KIS S| XI=+=(2-3Y) X
40% + CALL X 5%] X 10%
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HE0I90KH (Z=A1)A 6.54 16.45 31.59 38.37
(HIRXI< CHEl &2 (1.29) (15.22) (27.49) (29.43)
HE0I90KH (=4l Ae 6.92 17.28 32.99 40.88
(HI X4 CHHl A ) (1.67) (16.05) (28.89) (31.94)
HE0190XH (F41)C-Pel - - - -
(HI X% CHHl &) - - - _
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HE0I90KH (FANCT 5.72 7.36 15.89 20.04
(GIImpyEr = n/3) (0.47) (6.13) (11.79) (11.10)
HE0I90KH (F=A!)C2 -0.20 -0.20 -0.20 4.03
(GIImpyEr = n/3) (-5.45) (-1.43) (-4.30) (-4.91)
HE0I90KH (F=ANC4 6.78 16.96 32.45 39.89
(GIImpyEr = n/3) (1.53) (15.73) (28.35) (30.95)
HE0I90KH (Z=4!)Ce 6.78 16.97 32.48 39.96
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HE0I90KH (F=41)S 6.93 19.56 28.19 21.43
(LX< tHHl &2 (1.68) (18.33) (24.09) (12.49)
JHE0I90KH (F41)S-P 7.01 17.49 33.42 42.33
(LX< tHHl &2 (1.76) (16.26) (29.32) (33.39)
HE0190XH (F41)S-R - - - -
(Bl X4 CHHI S I) - - - -
CDSC HEHE S8 o=
CDSCE&t 4005 6.32 14.31 29.02 37.45
(HIRXI< CHHl &34 (1.07) (13.08) (24.92) (28.51)
HI WXl (BIXI0H3) 5.25 1.23 4.10 8.94
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40% + CALL X 5%] X 10%
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